H(I)-Philosophy-H-2

2017
PHILOSOPHY — HONOURS
Second Paper
Full Marks - 100

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Question No.1 is compulsory and answer any other five questions taking at least one
from each Unit

1. Answer, in brief, any four questions : 5x4
(a) What are the reinforcing factors for the organization of the sense-

field? :
(b) What is conditioned reflex?
(c) Explain the characteristics of consciousness.
(d) Whatis the difference between independent variable and dependent
variable as used in experimental method?

(e) 'We belong to associations, but we work through institutions'—
Explain.

(f) State and explain the main functions of family.

(g) What, according to Mahatma Gandhi, is trusteeship?

(h) What is utopian socialism?

Half - I
(Psychology)
Unit - 1

2. Whatis introspection? What specific objections have been raised against
this method by the behaviourists? Are these objections tenable? Give reasons for

your answer. 4+6+6
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3. What is perception? Explain the processes involved in perception.
Distinguish between sensation and perception. 2+6+8

4. Explain Skinner's theory of operant conditioning. Discuss the role played

by positive reinforcer in operant conditioning theory. 8+8
Unit - 2
5. Critically explain the view that "mental states are identical with certain
physical states of the brain" regarding mind-body relation. 16
6. Describe the Binet-Simon Test of intelligence. What are its
disadvantages? How does Terman—Merill improve upon this scale? 8+4+4
Half — 11
(Social and Political Philosophy)
Unit - 3

7. Whatis community? What are its bases? Distinguish between community
and association. Can a monastery be regarded as a community? Give reasons
for your answer. 2+6+642

8. 'The history of all hitherto existing societies is the history of class-
struggle' — Explain and examine this statement of Marx. 10+6

9. Explain the organic theory regarding the relation between individual
and the society. Do you consider this theory satisfactory? Discuss. 1046

Unit - 4
10. What is secularism? Analyse the concept of secularism in the Indian
context. 4+12

11. Explain critically liberal democracy. How can we overcome the demerits
of this type of democracy? 10+6
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